
 

BMW S1000RR 
          2009–2014 

REVERSE SHIFTING 
Part Nr. 5400 

 

M6 x 20 DIN7380 
+ 123120306 

540M 

 

M8 x 50 DIN6921 
+ 807 

M8 x 30 DIN6921 
+ 807 

 872 

540D + 
M6 x 12 DIN7984 

M8 x 35 DIN7991 

+ 123220908 

M8 x 25 DIN7991 

+ 123200508 
 

M6 x 30 DIN7991 

+ M6 DIN934 

818040 
+ M8 DIN934 

M6 x 35 DIN7380 

+ 817 + 123121206 
+ M6 DIN934 

+ LOCTITE ! 
 

 

 8470 

M8 x 20 DIN7991 

M6 x 12 DIN7991 

M8 x 25  
DIN7991 

M8 x 50 DIN6921 
+ 123221208 

EXCENTR 820 + 

M6 x 20 DIN7991 
+ LOCTITE ! 

 8310 

 813LB 

810R 

818152 
+ M8 DIN934 

 813RC 

 882 


